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Prof. Dr. Alfred Toth 

Trajektische Primzeichenrelationen 

1. Trajektische Relation 

Eine trajektische Relation (vgl. Toth 2025) ist eine Relation mit einer zen-

tralen Differenz 

T = (x | y) = (x, y, z) 

mit y = R(x, z) und R(x, z) ≠ R(z, x), d.h. R ≠ Ø. 

und 

τ: (x, y) → (x, z, y) 

x  x  x 

 

y  y  y 

 

z  z  z 

sowie 

T1 =T2 = (→, ←) 

T3 = (→, →, ←, ←). 

2. Sei 

Z = (1, 2, 3) (vgl. Bense 1980) 

dann 

T = (1 | 2) = (1, 3, 2) 

T = (1 | 3) = (1, 2, 3) 

T = (2 | 3) = (2, 1, 3) 

T = (2 | 1) = (2, 3, 1) 

T = (3 | 2) = (3, 1, 2) 

T = (3 | 1) = (3, 2, 1). 
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T = (1 | 2) = (1, 3, 2)    T = (1 | 3) = (1, 2, 3) 

1  1  1   1  1  1 

 

2  2  2   2  2  2 

 

3  3  3   3  3  3 

T = (2 | 3) = (2, 1, 3)    T = (2 | 1) = (2, 3, 1) 

1  1  1   1  1  1 

 

2  2  2   2  2  2 

 

3  3  3   3  3  3 

T = (3 | 2) = (3, 1, 2)    T = (3 | 1) = (3, 2, 1) 

1  1  1   1  1  1 

 

2  2  2   2  2  2 

 

3  3  3   3  3  3 
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